| Radzo Amatews Emmmatwn . 55}1
C1ty and Guﬂds of London Instltute

1959
55.—~RADIO AM_A:T_E_URS’ E_XAM_INATmN
. Friday.:_ . May,ISt'h-‘. 6.3.0._ _td ,‘5.30' _p;'m. '

. Eight guesésom i aﬂ are to be. utz‘&mﬁte@ as ander

~ *-Both questions in Pari I (whwk afe compadsmjy) and: six I~
otkers from Payt 2.

Falure in either pmt will amry with zt ]‘azlure in the éxamination
as a. wimle o L

Part 3
. Both gmestwns nmst be aﬁempﬁed n-this parf

1. List four of the frequency bands available to amatewrs showing
in eachcase, (a) the width of the band, (b) the class or classes of
emission permitted, and (c).the. maximum 'd.c. input power to the final
. amplifier permitted ‘How is the d.c. mput power to the final amplifier -
' messured? _ S A ¢ 4 marks)

2. VVhat precautmns should be taken, in de31gn1ng an HF: trans :

,uutter suitable for yse in an amateur station; to' ensure. that the fre- .-

sency of the radiated wave remains satisfactorily stable? “What fom:l -

" of frequéncy-measuring équipment would be required ta ensure tHat .

a variable- «frequency oscillator-controlled transmitter at an ‘amateur

-station is eperating thh emissions: within’ ‘the authorised frequenCy' -

bande? R L maks)

Part 2
Ssx guesizom only to Be attcmpted i t}m part

3. A coil havmg 159 nfillihenrys inductance and 10 ohms resistance
Jis connected in turd to the. foilowmg sources of e mf
(a}. 12 volts d.c. - .
{b) 12 volts 1 Mc/s ac. -

What current flows through the coil, in cach case? Expﬂ;ua why |

the cun:ent differs in each case: . o .. 7 o (10 marks). - >
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wh

2. : mxo AMATEURS EXAMINA‘I'ION

_ 4 Descnbe the structuré of a low-pmver then'nmmc valve of the
- 'mdlrectl-y-hcated triode type. . Explain tow the anode volts/anode
. current. charactenstlc is measured and plotted © (10 marks)

" b. Describe two mcihoda by whlch teceivers can be made to receive
either radiotelephony ar c.w. telegraphy ‘at will. ‘What are the ad-

" vantagw and chsadvantages of each method? o (10 marks)

6 Drsw A c.lrcuzt dlagram of 8 crystal oscillator and explam its -
stion. 17 oo (10 marke)

7. In order to mcnntnm 24- huur centact bmveen two statiotis 3000 '
‘miles ‘apait more than: one fréquency. of - transmission, is wsukly r.
- quired. Why is this2 " Desenbe the paths. whlch might be followed by
© the radw Wirm b:twem the twc- mtmm, o (10 marks)

8. Desc:rabe wrth dmgrams a mutbod of couplmg a transmxtter to,.an’
aerial when transmitting on a frequency in the H.F. range so that the

© . ‘radiation of harmomcs of the fundamental frequency is reduced 16 & -

minimum. (10 mark.f)

9, DeSCfle the. constructlon of a movmg coil - Ioudspcaker Why
is"a ﬁeld mhgnet necessar}*? Lo . [10 mm'k.r) o

10 Draw a- circuit dlag:am of the RF amphﬁer stape of. a :;:-
ceiver. “Tf the ‘turiing ‘capacitor has a miaximum value of 100 micro-
m:crcﬁfarada and a minimum value.of 40 micromicrofarads, what fre-
' - guency: rahge- would: it cover if the tunmg coil had a valne of in-

'ductiﬂée of 635 numhemys? " C(1e marks) :




